1D yrmaig lgnyeg DLl agdniy

dWldl J=> das Y-¥
Ju-W3 | p-wﬁ’l
lgashiig Blildl gas Labbi 1w
0 s 2500 2 L Y 01 15l o 318 12 31 0 ) S
OWlal (s dis dhniall dgSLAll

3L35;.J‘—3Lo; fJLas,,J\—i,u GGy - D SBLYI = Syl

Sl = 8l 2Ll - 30 I - Ji g 2Ll = 2, s

3 P % s -
LY - s Flll =55 SuULYI = JYs S sall — GOA
s . 5 s
S350 = s o BLYI = Ol Fld! = Sl S 5531 = O g

Fldl — dobls Fldl - LY - Ales Gl - al

¢l e Sais 251 AWl Lo

Ll e St BV ASWIL @l

dllasall Ja: T

z E & j' )
e 455 3 VA Lehe 5 8 e LLSL ) WA Gl Ao s 201 G
?J?LJSI\LM:SM




